
Fractions to Percentages

1. A. 80%; B. 50%; C. 40%

2. A. 79%; B. 60% 

3. The following number of squares should be coloured: colour 1 – 24, colour 2 – 53, 

colour 3 – 14. 9 squares or 9% is left.

4. As 62 squares are shaded, 38 squares are not shaded. This is 38%. 

5. Various answers, for example: 30% or 20%. The percentages are in descending order 

so the missing card should be smaller than 36%, but greater than 17%. This can also be 

written as 2 parts out of 10 or 3 parts out of 10. 

6. Felix has not written his percentages as parts out of 100. He needs to multiply his 

answer by 10. Felix got 80% of his spellings correct and 20% of them incorrect. 
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